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Question Number : 1 Question Id : 51714413393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
The rote memorization of facts and bites of information is characteristic of which level of

teaching:
DrTd TRrei m@in@éﬁ S o S 98 o5l

Options :

Memory level of Teaching
P %&35 ?mae'i%
1.¢

Understanding level of teaching
A5 @g{nﬁb é'i?m:fri%

Reflective Level
|H&8o ?&}38

Dynamic Level
BoirED $3

Question Number : 2 Question Id : 51714413394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



This method of learning combines online learning with face to face learning?
&9 @ﬂﬁ%}@, BR8N ©ErEgIE |, @%ﬁmgﬁ D0 sotnod

Options:
Reflective
) (&80
1. %
Blended
Sna500o
2. ¥ =
Case Study
i e M e(ery a8
L. TGOS et
Simulation
08t
4, %

Question Number : 3 Question Id : 51714413395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a diagram for representing tasks, works, concept or items linked to and
arranged around a "Central concepts or subject”
& P H60, © BolBahgrdden, Dchos® ¥0H Swr Hhipoe &06 sedgan, R
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Options:
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Question Number : 4 Question Id : 51714413396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In evaluation this term is applied to the expression of opinion or judgement
regarding some situation, object or character and is quantified

&l ‘.55?@39’3, D) MHessned 55%053&36’5 e @d}g}@a, é&mé@éom Bena)id,
& ©0F)) GHARALD

Options :

Cumulative record
HodE E:st@

Rating

Checklist
55&)‘%

Observation
584



Question Number : 5 Question Id : 51714413397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The organization established in India to conduct Computer Based Testing (CBT)
for exams like UGC NET, NEET, CPAT, efc is

UGC NET, NEET, CPAT SntSerd Bodrob espedd $880 Stess Fhodads o3

Options:

National Testing Agency
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5 « ORaR - Digii on

Mational Exam Board

4% JADS &-rg.ﬁ) 23’565

Question Number : 6 Question Id : 51714413398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

This philosophy tends to believe that logic and reason are the means of acquiring
knowledge
Egmﬁ& HoarHohed S8, Pt SHIBIR FPOoDIO



Options :

Experiment
Eslonvlataiy

Rationalism
v et Em

Observation
u B8l

Theory
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Question Number : 7 Question Id : 51714413399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This type of research involves collecting and analysing numerical data.
& 85 H08°RE° Sogrg Berodo MEBoSEO BBt ghosto atiheEod.

Options :

Case Study
‘sﬁotﬁ% H88es

1. %

Cluantitative
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2.9 ’

Focus Group
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Hypothesis testing

4 % 208enwr $5§

Question Number : 8 Question Id : 51714413400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a summated five point rating scale
ab Do) b aronoty DHOMH wpen
Options :

Likert Scale

Y
1\/@%5&:' oJC0

Stapel Scale
%@5 ﬁéﬁ}]

Thurstone Scale
3% B5PS Ry

Guttman Scale
HeSsns f}é@

Question Number : 9 Question Id : 51714413401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Principles and guidelines that help us to uphold the things we value are known as
soRo Denadid é@goé é@@@éﬁ ertahth drlEren amgcﬁfﬁ%s“ﬁn

Options :

Etiquettes
Sooegtien

Manners
e TR O D]

Ethics
3 Heben

Morale

Question Number : 10 Question Id : 51714413402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which is the theory that states all knowledge is based on experience derived from
the senses?

O, &;ﬁo@dﬂP@ Sod Brobi edgrdo el o8l aﬁ}; ?’:rm;oéo 08?
Options :

Rationalism

N

Research Paradigm
5888 ©E s



Empiricism

OB B30

3. v
Metaphysics

SoereeB
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Sub-Section Number : 2
Sub-Section Id : 517144546
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714413403 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:

HaRE: (Both sl Ssrardo egrdore Q. 11806 Q. 15 o Sirgraron
Bgenleled

It was about this time | conceived the bold and arduous project of arriving at moral
perfection. Wished to live without committing any fault at anytime; | would conquer all
that either natural inclination, custom, or company might lead me into. As | knew, or
thought | knew, what was right and wrong, | did not see why | might not always do the
one and avoid the other. But | soon found | had undertaken a task of more difficulty than
| had imagined.Habit took the advantage of inattention; inclination was sometimes too
strong for reason. | concluded, at length, that the mere speculative conviction that it was
our interest to be completely virtuous was not sufficient to prevent our slipping; and that
the contrary habits must be broken, and good ones acquired and established, before we
can have any dependence on a steady, uniform rectitude of conduct.
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Sub questions

Question Number : 11 Question Id : 51714413404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The journey towards becoming morally excellent is highly
RBEOTT (Fd OO S0 [DOSTPLRO Trer

Options :

1.



smooth.
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poised
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simple
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demanding
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Question Number : 12 Question Id : 51714413405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The phrase: “inclination was sometimes too strong for reason” means
R0, 08 s3SI S0 VORI ©F HA0VE e9§o

Options :

The author could resist his habits
S0 0 @@ DABOTIHIOMTE

1. %
The author moved towards his habits
5 BL500€5 S 9T Fo) 0A FF YR



The author listened to his reason
GLI0NES ) ST A ade”) C

The author was motivated not to get back to his habits

4 x SR0NES S5 @D e300 FOSE0TE® 000D

Question Number : 13 Question Id : 51714413406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

According to the author, one must to prevent us from slipping
back to old habits.

W W & W a ==
GrIones (S0, D0 DY ares OTEY 2DF0T GOFTOOR)

Options :

have character
Des3ded somEd)

1. &
be virtuous
- HeTen God)
develop good habits
3 ¢ DO BOITLD 2DOFOOH0TNT 7O

avoid bad company
T AT Q) Aerdowrd)



Question Number : 14 Question Id : 51714413407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The author realized that habits keep coming back because of
& OO o) @eare)) @b dear) oA drdane |Haromrdd

]

Options :

inattention
1.4 o FQ

temptation
]
5 % 508
attraction
2 es8ded
liking
4 % 9RO

Question Number : 15 Question Id : 51714413408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The word ‘rectitude’ means
"8 DD 1565 0" @R DIVE @90

Options :



moral correctness
1o DEVIOE EPQS

firmly held belief
NN 80

2. %

spiritual elevation

esgsesls ad) €550
3 % 3 5

charity
4 % zaredg)ed L0
Sub-Section Number : 3
Sub-Section Id : 517144547
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714413409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

\/oice is adjusting the pitch or tone of your voice to help your listeners to
clearly hear and understand your speech.

) (DOOTPR), D0 o (Feden @80 BFTIERE D 550 B oD
FAIREN Baird)

Options :

manipulation
1. 8 T



modulation
IR VRTE TOVIDY

2.
variation
@3?{25;?0&
3 ®
deviation
4 % A58 0

Question Number : 17 Question Id : 51714413410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Rapport development is a communication skill that focuses on building and
maintaining __through effective communication.

LTI @230 R DPI0STN a?éjaﬁgééésa LT 0O
HBS0SOMT DEITFOTIB0D R APOOT 279a555% 86w
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Options :

Human relationships

odT00) COI0TIPED
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Membership
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Individuality
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Independence
0 55050

Question Number : 18 Question Id : 51714413411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Business fransactions, salary benefits and partnership deals
happen through proper__skills.

T3PS CPTBAED, 25650 SHOA |HATFETEN HOOD 21T £ 2,8)0Ten
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Options :

crises management
% V052 QS5

time management
00 O faTeD

negotiation

Interpersonal
0550 QDN E NOVOTTO QO LoD

Question Number : 19 Question Id : 51714413412 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in people being acknowledge and appreciated.

VIR ERENO) TP GO0 SO (236D @0RSO0TI0 HOOW
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Options :

Courageous
e eh0

Courteous
5 SNTEO

Aggressive
CSrSach

Passive
Q| 21, Oireed

Question Number : 20 Question Id : 51714413413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

To establish trust among teammates, one needs to be

Vi Wep M M e W b W W e Ry T A A TR e A
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Options:



Generous
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Question Number : 21 Question Id : 51714413414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
=100 =3

Options :

68
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78
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Question Number : 22 Question Id : 51714413415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two trains are travelling in opposite directions at speeds of 72km/hr and 54 km/hr
respectively. They take 10 seconds to cross each other. If the two trains travelled in the
same directions, then a passenger sitting in the faster train would have crossed the other
train in 24 seconds. The length of the trains, in metres are

Bocd B SHIT 7280 Hoow 54 o Fod S0 IS
DATENT) 0. @9 2.5 TS 10 ED 08, Both TW 2.3
B3 |HOTEIR, INMH0SHS BNS PN (DTN 24 VEIS” By
BN PP, DY arse) MOSS  , &0&n0d

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

300, 50
250, 100
150, 200

3.



230, 120

Question Number : 23 Question Id : 51714413416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Gopi invested a sum of Rs. 42,500 at a certain rate of simple interest. He finds that the
interest payable to him by the bank increases by Rs. 55,250 when the rate of simple
interest is increased by 10 percentage points. Find the period of investment.

%) 6r.42,500 Sodinid B0 rrrtm 56 D Déyabr et Frrdn S48
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Options :
1 year

1% 10008300
22 years

5 % 22 0063e5 300000
13 years

3 ¢ 13 00630000

can not bhe determined
SOV AT BN

Question Number : 24 Question Id : 51714413417 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Saroja has successfully divided a number N, 3 times by the least number X which
when divided by 6, 5, 4 leaves reminders of 1, 2 and 3 respectively. The reminder
when the same number is divided by 49 is

082 N 093 daschsosorr 3 7rd 505 doms X & arRomrd, A
6.5, 48 2PN AT 1, 2 HOOM 3 T (H0EE) & ST OW. e
DO 496 2RO FokedD

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
1 12
7 15
3 14

canot be determined
ANV ATN [PV

Question Number : 25 Question Id : 51714413418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
The standard deviation of the observations 8,12, 4 16, 20, 28, 32, 24, 36, 44, and
40 is
8,12, 4 16, 20, 28, 32, 24, 36, 44 OO0 40 HOTOIO OVWEIREINY

Jderdsm
Options:

V80
1. #

V40
2. %

—
3 ¥ v 160

v 360
4, ®

Question Number : 26 Question Id : 51714413419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
In a certain language if BRIEF is coded as 17 and CLOCK is coded as 29, then the code for TSSET in that
language is
2 BB g6’ BRIEF i 17, CLOCK & 29re 8% dahalis i
otepad® TSSET & &6

Options :
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37
2.

47
3. =

34
4. %

Question Number : 27 Question Id : 51714413420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The odd one among the following numbers is
% (Bod 78BS HBHEaD 08y

Options :

65
1. %

91
2. %

104
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Question Number : 28 Question Id : 51714413421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Statements: Some rings are circles
No circle is a square
(DDSeen 1 B Heociren HEmen

o o SHd(Ho =
Conclusions: |. No ring is a Square

Il. All rings are squares
swhod | o decdho SEBHo st

ILeody Herciren S&d|Tren
Options:

| is true and |l is false
I a;@ snBaiw I é@

Both | and |l are true

Botd | s08cw Il en a‘f.glj
2. %

| is false and Il is false

- | 853 sobato I 2.

Both | and |l are false
Goth | 508w Il en &5
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Question Number : 29 Question Id : 51714413422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In the following missing group of letters
% (Bod A& &HodH ®Eore DRPsTo

JUMP: MWPR: HUNT:

Options:

KwaQv
1.+

JWRU
2. %
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Question Number : 30 Question Id : 51714413423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which of the following diagrams represents the relation among Musicians,
Instrumentalist and Violinists ?
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Options :
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Sub-Section Number : 4
Sub-Section Id : 517144548
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 51714413424 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions 31 to 35 based on the data provided below.
KRE: B ©0BODS SFoFsn errdorr 31 Hod 35 1) 0% JSrTTen (Fohod.

The following table represents public sector outlay ( in percentage)

08 HEE (H2hed 3 S0k H305rR) ArDN08 (TSoe)

SNo Plan Agriculture | Energy | Industry | Others
|DEP D Sgrdio | 48 | DO | 265

1 | Fourth Plan =& (694 20 25 10 45

2 Fifth Plan 5085 e @ 20 20 25 38

3 Sixth Plan &6 (He@d 25 30 15 30

4 | Seventh Plan 2)¢8sS |ser®% 25 30 12 33

Sub questions

Question Number : 31 Question Id : 51714413425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

During the 5% plan 65% of the amount spent in the Agriculture sector was through private
investment, If the private investment was 5.200 crores. The total outlay of the 5% plan is
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Public sector outlay was 40,000 cr in the 5% plan and around 1 lakh er in the 62 plan. The

percentage increase in the amount spent towards Energy sector from the 5% plan to 6 plan is
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In 7% plan, the amount spent towards industry was 26,400 cr. The amount spent towards
transport and communication, if it was 40% of others, 15
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Out of the four sectors given. how many sectors showed a consistent trend ( increase or

decrease) in the allocation between the 4 plan and seventh plan.
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During the 4% plan and 7® plan, the total public sector outlay was 16.000 cr and 2.2 Lakh cr
respectively. The percentage increase i deployment of funds was the maximum for which of

the following sectors from the 4 plan to seventh plan?

W, o o, a f { : - < ; I o~
46 [T RE DO 743 [HET VLS IS0 (HZed 5 SO 000 ST 16,000 5L SHAARW 2.

{'-b

lelilelaYa
Options :

Agriculture

2 SO0
1. %

Energy
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Industry
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Both Agriculture and Industry
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A Byte is made up of

DéY edme
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4 bits

8 bits

12 bits

16 bits
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A web based graphical environment on computer networks 1s
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Wide World Web
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E- Pathshala is the platform of which organisation?
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The purpose of ICT use in educationisto .........
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Attract students
1 % Do e88odhe

Make teaching interesting

- 555 es58880rre Sahnes

Optimize learning outcomes
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Promote technology culture in teaching
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Which of the following is/are the UNDP Sustainable Development Goals?
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Quality education
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Gender equalities
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One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons
(CFCs)inairis ...........
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Options :

Cement industry
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Fertilizer industry
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Global warming can be controlled by ..
[DHosargone %aé}gam & Dorre Elofmo@oiﬁézﬁmén
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Increasing deforestation, reducing efficiency of energy usage
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Increasing deforestation, slowing down the growth of human population
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Reducing deforestation, increasing the use of fossil fuel
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Reducing deforestation, cutting down the use of fossil fuel
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The main composition of biogas is ...........
DAFEEgR Sngy S0
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Methane
- P

Carbon dioxide
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Hydrogen
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The United Nations Framework Convention on Climate Change is also
known as......
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all candidates.

Options :

Kyoto Protocol
2¢° @Eeieed

Vienna Convention
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Earth Summit
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None of these
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Which of the following is/are writings of Chanakya?
& BIHD S HD orealgd) Bden
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Arthashastra
@tiangé:o
[ ]

Ashtadhayayi
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All of the above
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The First Commission for Higher Education in post-independence period in India was
headed by..................
%ﬁﬁeﬁﬁ@{é{ﬁgo s seof Do SING RAEN AT Sngrs(rseB

Options :

Maulana Abdul Kalam Azad
SPeree @3}55 Bersn weed
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S. Radhakrishnan
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D.S. Kothari
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Mone of the above
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Which is the most appropriate method to teach vocational skills to students?
&mﬂg%}ﬂeﬁn ée‘}g 28 Edeginotn 580Ht 06 B DS :;’tha
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Role play
| 863

Discussion
&:’3&5’15

Experimentation
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Demonstration
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National Education Policy 2020 recommends ..............
2805 Doy Derden 2020 HarsH DaHse
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Multilingualism
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Standardization of curriculum
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International Environmental Education Programme (IEEP) has been launched by .........
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“If education was identical to mformation. the libraries would be the greatest
saints of the world and encyclopaedia the greatest rishis”. Who said this?
2,438 Alaly Sdrartod® ﬁﬁéﬁmé@_)éﬁ (Hogrediren [Hoxomedd Sndhenods)
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Swami Vivekananda
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Tagore
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Aurobindo
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The gap between material culture and non-material culture 1s known as
B8 Jolpd b s N0(EYS8 Mo wodoedy 3026 06?
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Cultural shock
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Cultural lag

f:ollgf:@&l Derodis
2. %

Cultural pluralism
L. QoS 2noFSo

Enculturation
éo{iﬁj@@ét‘jm

Question Number : 53 Question Id : 51714413447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which one of the following processes 1s the main task for computer mapping

the geographical data?
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The records which maintain the description of significant events of works of
students 1s
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Which of the following are the ideals set forth in the Preamble of our
constitution?
Bob 06" 0 Tremgor (5388 (Preamble) &° &é-ﬁo&’um&é Suredir|Eeen 28?
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Social. economic and political justice
FSre, «fl HBcH Tredch HETahin
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Equality of status and of opportunity
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Liberty of thought. expression. belief faith and worship
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Rejecting the concept of “S-R” connectionism, further “S-O-R” concept
was developed by
“S-R” Sozoio He grard 885009, “S-0-R” ORI 553% I950 5E?
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Assertion (A): Qualitative research in India 15 gaining momentum now a days
and it has a long way to go to attain International standards.

HRFUI(A): & Stiisreod’ rBdiiod” Hmrdl H887%S

DozrHotnod. @Oétﬁ;@iﬁ.’) BSreren B5ESEI8 nose Jo& Kddo

$theob.

Reason (R): Because the financial support for carrying out qualitative research
in not adequate to meet international standards
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Both A and R are true and R is the correct explanation of A.
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Both A and R are true but R 1s not the correct explanation of A.
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1s true but R 1s false

A
A a5y R 85

A 1s false but R 1s true
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Prime Minister’s research fellowship 1s for students pursuing Ph.D. programme in
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State and central universities .
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The purpose of prognostic evaluation is (prognostic)
D) Siregosdo ang) odBo he?
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Which protocol enables users to access web based mteractive information

services and applications from the screens of mobile phone
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Vedic philosophy evolved in the following order
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In our Indian Constitution. Article 46 1s concerned with
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Free and compulsory education
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The psychologist. who constructed the first intelligence test. 1s
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William James
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Ebbinghuas had done the pioneering experiments on
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Perception
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Emotion
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Memory
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Thinking
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According to the law of Karma. every karma leads to
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Moksha
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Phala
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Which of the following domains 1s used for - profit businesses
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The final stage of evaluation is
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Assigning grades
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Administration of test
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Interpretation of result
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Feedback
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Which of the following are the goals of higher education ?
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Access
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ii. Equity
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ii. Quality and Excellence
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iv. \Value based Education
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v. Compulsory free Education
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Select the correct answer from the code given below

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
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1.1 and v
i, 11 0B Vv

111. v and vi
111, Vv SBdm vi
2.

1. 11, 111, 1v and v

3 L 11,11, 1V $605» v

1, 11, 11, 1v, v and vi
A i, 11, 111, 1V, Vv 08450 Vi
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Assertion (A): Universalisation of elementary education (UEE) in India 1s still
a myth while considering some of the under developed districts in India
[EBaRtSS(A): Sjéémﬁjeé @rgiang Des(UEE)
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(R): The low Socio economic status of parents is the main reason for wastage

and stagnation in elementary education.
s6e0(R): &#Do(the f‘agé ol éﬂ?gé}é EagatAvs] ekt e B
Qena)tios seOmand Seniob)

Options :

Both A and R are true and R 1s the correct explanation of A
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Both A and R are true but R 1s not the correct explanation of A
Both A H80i R 3833015 5080 R @038 A & 488 958 s0th
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A 1s true but R 1s false.
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A 1s false but R 1s true.
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In higher education. students are best motivated through
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competition
P8 S &30
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personal achievement
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co-operation
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Individual attention
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The test in which examinee’s scores is compared with the scores of other

members of the same group to which an examinee belongs to 1s known as
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Options :

Criterion referenced test
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Norm referenced test
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Performance testing
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Standardized test
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The home page of a website is generally referred to
Website @) home page Jrsmdgore HID HreDoni

Options:

Main page
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First page
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Last page
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Colourful page
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The portion of Vedas that deals with rituals 1s known as
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Metaphysics 1s a branch of
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Physics
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Meta-ethics
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Epistemology
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Who established the first experimental psychological laboratory?
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Sigmund Freud
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B.F.Skinner
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Evan Pavlov
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Who advocated the creation of a classless society?
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August Comte
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S8 EﬁJ‘DSIJI A

M.K.Gandhi
M.K. o

Question Number : 77 Question Id : 51714413471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which 1s the inquiry into ‘being in general’
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Ontology
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Physics
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Epistemology
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Which of the following 1s not a category in Gagne’s learning hierarchy?
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Options :

Chain learning
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Symbolic Learnin
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Concept Learning
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Problem solving
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Wolf Gang Kohler was associated with ......... school of psychology
DS m5oh §%reb o HFr TP FrETod SonofodSaet.
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Social Psychology
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Gestalt Psychology
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Industrial Psychology
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The “Law of Effect” was coined by

(grdE Kmleaedy BrerofH DB dD%?

Options :

Skinner
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Who 1dentified definite stages for growth of intelligence?
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E.L. Thurston
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Jean Piaget
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Jerome S. Bruner

J.B. Watson
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Assertion (A): In collaborative learming. the students are found to be actively
engaged and are contributing for the betterment of group imterest.
H8arSH(A): Dl @?,55}6;6{33365 3){:59558@ s erdlo é@o% Ddore
&EBR5.

Reason (R): In competitive learning method individualistic in nature and self-
centred without any social obligation,

se0eo(R): 6880 é?jn)oﬁ o éﬁée’ﬁ IR Al ?;‘gdﬂ) éo@a‘i}@é&m
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Both A and R are true and R 1s the correct explanation of A.
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Both A and R are true but R 1s not the correct explanation of A. Soth A
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A 1s true but R 1s false.
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A 1s false but R 1s true.
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Extension education is understood as
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extending new knowledge to the door step of those who need it
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extending educational opportunities to the deprived
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a programie for educating the farmers
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4.



education meant for the spread of knowledge among villagers
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What is the mode of calculating numbers by computers?
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Ethics 1s related to ------------ as ontology is related to metaphysics
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Who 1s the father of modern Empiricism?
BoB B6° 5% ©thd¥ @defSarredd (Empiricism) Hershisnd
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John Locke
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David Hume
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Rene Descartes
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Immanuel Kant
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The theory of innate ideas was first propounded by
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John Locke
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David Hume
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‘Tabula rasa’ 1s the concept of
Coraress’ on grnd 608 30H56
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Idealism
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Which philosopher emphasizes on the need for aesthetics as one of the aims of

education
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Who 1s known as the father of Gestalt psychology?
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Kurt Koffka
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J.B. Watson
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Kurt Lewin

L« 55895

Wolfgang Kohler
&dymsoh S

Question Number : 91 Question Id : 51714413485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Who 1s the pioneer contributor to Cognitive Psychology?
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Jean Piaget
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Lawerence Kohlberg
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The modern psycholinguistic theory was developed by

e2HdE S grarbgrosed) (modern psycholinguistic theory)

@éjé@% SRt leoYd

Options :

Noam Chomsky
Shoeian m&fs@,

Jerom S.Bruner
B6°5 S.(2rdb

MecClelland
$rE8erod

David Ausubal
GOE «HaS

Question Number : 93 Question Id : 51714413487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

Abraham Maslow and Carl Rogers are the propounders of .........
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Developmental psychology
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Biological psychology
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Humanistic psychology
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Name the topology in which computers are connected along a single cable.
2.83¢ Boagtb horkd Sand EIES 806 BN V58S topology
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Hierarchical
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Which one of the Theory of intelligence advocates the presence of general
ntelligence ‘g’ and specific mtelligence ‘s’ ?
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Cattells” Fluid Intelligence
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Guildford’s Sol model
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Spearman’s two factor theory
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Vernon's hierarchical theory
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Who Self-actualization was proposed by as highest in need hierarchy
o) SPEin odEDS SrSS eddtorr 3aEaBH?
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Carl Rogers
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Abraham Maslow
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Sigmund Freud
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Evaluation that monitors learning progress is
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Placement evaluation
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Formative evaluation
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Diagnostic evaluation
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é@ée_}éa‘mﬂ}@%c}éém
4. %

Question Number : 98 Question Id : 51714413492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Mean. Median and Mode are:
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Measures of deviation
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measures of central tendency
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Measures of variation
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Research 1s a process involving
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Searching for truth that already exists
=:)E8 608 80 68 Seg) ©athoSEo

Arriving at solution to any problem in a meaningful way
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Working in a scientific way to search for truth of any problem
$ay HBaroelE Tlah HPBS® e VoHEHm

Scientific thinking and arriving at a solution
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A research paper 1s a brief report of research work based on
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esgedaad alnoti.

Options :

Primary Data only

[@rE8nE Barodo S
1. %

Secondary Data only
fes Barodo &r(Eah
2. ®

Both Primary and Secondary Data

[arednE HBcsn e Bobod) Searode ) epgrdnddinotiih
3.¢

mfrospection and intuitive thinking
®08: H080l HBaH 68355 8) 80 e85
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Who 1s considered to be the father of Artificial Intelligence?
g (g (Artificial Intelligence) £ Dersniiotd B55?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

Allen Mcdonald
& 655355"&?3@

Allen Turing
5, @83 trgboh

Charles Babbage
08 DS

Tim Berers-Lee
A 55&5&@
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Inductive logic proceeds from:
estishid &8s B0 o8 Hnoth JerHid

Options :

General to General
- Feries ol Jeprdes

Particular to General
o (BEDD ol e

General to Particular
- e oof {@é@é@_}é

Particular to Particular
Lﬁ;égé@_}é Hod 1‘_5..’3&35%@5
4, %
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A short summary of a technical report is called
DHBS FoBAS Trorod DRHEDH HotrE?

Options :



research article
5880 THgo

research publication
STt RaTy e PSS el Touo

2. %

research pamphlet
50855 SarS s

research abstract

58888 earTrodSm
4.
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Which of the following refers to concurrent validity?
% (BoD 7S &850HHIHSres Srdodbnd?

Options :

Two tests are done at the same time and the validity co-efficient are worked out

Bot H6Een a BB oD BB JHire Hess) Fabiko

Two or more climicians agree on the outcome and they determune the validity
coefficient 55 o5 25 #od Btgen S ofd SipBod JHire HerEd

2 ?l-ga}:-orjﬁ-a-:ﬁ:u.



The items on the test consistently relates to each other and the validity

coefficient are deternuned
JOEE°D Hfen 28508 258 E'ﬁc}ﬁ“ 20 soll S roeseR)y
% SSonodried.

The notation that scores on a test correlates lnghly with scores from the test
that measure the same attribute
&5 ool Sowokods H0EHrdno, deparno fRten s JiroogE)

4. % Zof dosran.
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Fundamental research aims at
[R50 56888 oF50

Options :

immediate solution to a problem

1% Sotoa e 566%3760

application of theory for social benefit

PSRl (Fohind &HErA0D lnlelitan
2. %

conducting short cohort study

- Deyyre 3}5533003 58855 Slal{eninlel

generation of new knowledge and theory building

4V PN VLT E’}Bgmﬁ& "pﬁe‘%o{ﬁtﬂo soBo ﬁ}@;@@vc‘{}; Bresrofodto
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The oldest method for study of behaviour 1s

[©58550( behaviour) eegahdo DabEos® sd@rhoD DoeEEHH

Options :

Observation
1% 58808

Interview
mﬁ@tﬁ;j

Counselling
a00|gheasin

Introspection

mo&:5680d
4. &
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If a child has a mental age of 5 years and chronological age of 4 years then what
will be his IQ?
2.8 arend) aring Hohidy) b Hows)oren @S H0hi) ‘4’ Howsoeen ©oNa

«: AT
wsd B 0f Jos ?
Options :

125
1.

5 % 120

4w 100
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Benjamin S. Bloom developed which of the following?
BoezbS S. apsh (Bod NS BAD 58 S0t ?

Options :

taxonomy of cognitive skills based on a hierarchy of objectives
Hoerard)X Jiymrge $08e [ESrNs 366°) ogrosgriorr
1 ¢ c."‘%)% DD

an approach to teaching based on operant conditioning and classical

conditioning

5 % Téé%“:jﬁ ool sobdko ﬁﬂf@cﬁ} Dol el HEsd E’J}v%‘io Hoedlodart



problem-solving algorithm for teacher training and student development

3 % tsarergdd B¥e bdin Do DerarRE Hibaey H8arpoNE Ffars (Kshsin

quantitative measure of intelligence. both verbal and nonverbal for all cultures

4 % o) SopHed SH@EPRNE TP, odE Hoirerdl (Hap Fodrso
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John Dewey is considered as
artirgore (Bod DForr HBNB0S bt

Options :

rationalist
o rard

realist
cjﬁ)mg 306

1dealist
e_aiﬁtjé-aﬁ&

pragmatist
DEDIOE Sewardy
Y
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Who 1s the founder of Idealism?
e_%iﬂtjgavmﬂ%% ﬂ;ﬁ}@&é& aah?

Options :

Hegel
% oPNS

Spinoza
NS
® (=%}

Plato
2potsh

Aristotle
&U@ﬁ;ﬁ@
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Justice Verma Committee is responsible for

af‘gﬁ 58y E0d B8 gL HarodHE

Options :



Women education of India
erBsidost {% Ay

1. %

Youth education of India
erBSnE06° s Alaly

2. %
Increased duration of B.Ed. course
, B.Ed 5553 cﬁjvgﬁ;’ﬁ oSEo
Increased duration of LLB course
4 LLB 5553 Eijvéfiﬁt% 2oSEo
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The pragmatist criterion of truth is
DgBHIOE Semarthe (Hsedan Jsn @b

Options :

God
| SB0S

Perception
. Eﬁ@éﬂ}:ﬁeﬁm



Workability

HOBk0éo
Rationalist
4 s B )
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Rationalism and empiricism represent the-philosophy of times
aréarddn Hdckn odgfard)E rtsn (empiricism) & (80b sce) dawf)

PSVitA o AN )

Options :

Tonian
e DOPAEHD

Medieval
v aigowslatany

Contemporary
Soseds

Modern
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Mind-body dualism is the position of
#BBo—3his) ByBabeo @) HBJ Krd) DBBOVHH

Options :

Charles Pierce
o050 33@5}5:,

i
)

John Dewey
5 % &R Br500P

Descartes
500
3.4 &
Aristotle
eBaréd
4, % =
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The Yashpal Committee Report (1993) is known as .........
ahhErs &8 2368 (1993) 2 0 HFore Dednthaéod?



Options :

I.C.T. in Teacher Education
ﬁo%mqrgajﬁj 3)&55«?55 0.0.8

Learning without Burden
> eRB08) Chalesiile

Learning through Broad-casting
erEeegoh oo 555

School m the bag
. ariare) a}ajri}éﬁﬂ
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Which of the following aspects is not discussed in a Teacher’s Diary?
sargryine g66° Bod a8 & wodo SBoSaEB?

Options :

Class Time Table
- SBK8 sreEsD é@é

Teaching Content
5 % SPesrodsm



Day-to-day personal events

_ HBRSID Berard Dogpéaden

Mid-day meal
4 % VAL P28 5w
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“Real 1s rational and rational is real™ 1s the dictum of
“chiﬁmvigf‘o ﬁ?éamtgc—imé}mcéﬂj ahrgo” ws &°6°8 53};:‘65

Options :

Hegel
1.4 Faia o]

Spinoza

m’\
9 % cﬁﬁﬁﬁ“

Berkeley
3 % aaﬁgﬁ)

Aristotle
8@
@ £3
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“‘Reverse the usual practice and you will almost always do right.” was the
dictum of

DRrerdmore ST B bt H80%or Ta O wud Sieg) 3058

o5 688 BNA

Options :

Mahathma Gandhi
20t efé@_rwo&:

1. %

Dewey

> % (ﬁj"é@)}ﬁ

Roussean

o
Lo &

Plato
apees®
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Which kind of library promotes Informal self-education?
el ﬁj&dﬂ] g =36 8od 7068 & (Kogredho e ﬁﬂiﬁ{ﬂsm?

Options :

National Library
1 % efah (Koprechsdn

Public Library
> e (Nogredhain

Specific Library
3 % @éﬁé@_}%’a (Sogrediain

College Library

4 % Egedie) (Hogrerdhain
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“Giving facilities to as per their needs and requirements™ 1s
0570 @dJoR) ) é@ujozﬁa}é DI Bob DFore IHLN

Options :
Equity

| p:féoétgo



Brotherhood
ORI LA YY)

Equality
PR
3. %

Democracy
4 % (SezeaiEigo
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Assertion(A): A measuring tool may be a reliable one but may not be a valid one

(H8areSS(A): E°9T Broiirdo (tool) DERNADS KO B0E" ) 5o Hiiimed

GotE TP

Reason(R): Validity includes reliability and not vice versa s28eso(R):
HHdrnsd D6ddohs Goddd) =20 ab( vice versa) 2.8 8 £5°EA Jhin 5ot

L)

Options :

Both A and R are true and R 1s the correct explanation of A.
1« Dot A &86c» R ady 5080 R o368 A8 585 55,

Both A and R are true but R is not the correct explanation of A.
, % 00tH A shBain R ey SiBako R 386 A8 385 D58 =0

A 1s true but R 1s false.
3 % Aadp R&Gyp



A 1s false but R 1s true.

. A e‘.éém*p Raﬁj
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Promotion of an employee to higher post due to acquisition of qualification 13

an example of .................
2l ﬁsﬁf’gﬁ i) igavgj 0903 [HIFNS8 52860 ®&H HoarHoDH Doy sen

BO8 &orirbes
Options :

Vertical mobility

Denad aArHdedo
1.4 = -

Horizontal mobility

5 % eXormr 606 rsdedo
. o )

Circular mobility
3 % HEsed reddeso
) — ®

Diagonal mobility
 BBoerod rddSedo
4. # £ &
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Which of the following was created for the co-ordination and maimtenance of

standards in higher education?
&) 8)65565 °Eages %50 % (Bod ;’io@éﬁ 25ideah 562 woven Johabdo

Options :

.« NCERT

, « SCERT
5 » UGC

Higher Education Information System Project
&S DS Bl D8 (@raEs
4. % <
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Which one of the following is not an element of mastery of learning?
& (Bod A8° Frodds ©KHHH osIH B?

Options :

Use of alternate text-book

-~ [Deegimcd guo artéo



Alternate methods of teaching

- ESEpa vy Sesoe étgé)m

Child-centred learning activity

_ B580|H e9gi5oee éejééo

Group teaching
4w RS B
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Who 1s associated with the didactic apparatus?

Gre88 eXyoen (didactic apparatus) @36 268 JomofodB6e?

Options:

Froebel
|« EFBS

Montessori
a’)ﬁoﬁﬁ%ﬁ
2.

Dewey

ESJ‘::,SO]_T”



Aristotle
E}Bﬁg A ]

4, =
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Pragmatism believes in the basic postulates of
BBH50E Samartio € REE (H8SHoH Sihydhobd

Options :

liberating the self from the soul
., 0% Hod fo&@é} &rotine

salvation or moksha from this world
&(HH0PS0 Hod DHNED Frothes

sympathizing to human sufferings and entanglements
AR eRGHeD, BINDOTPe D& DIFMEES

Learning by doing as a way of life
258 Hrdo oo @k
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The three main divisions of philosophy are metaphysics, epistemology and ......
85 PHoEN Hrth Tpeon ©bF8E Yo, (epistemology) 0 THo 00D nnme

Options :

Sociology
srRs FFo

Anthropology

L ¢ S8 g0

Cosmology
snﬂvé@ﬁﬁ
=

Axiology
dende PO
4. &
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A syllabus may be best conceived as
Qg (e HAED0 edHorr ErerobodHe

Options :

A means for preparing the students for an examination

- Sjmt‘siﬁgﬂé} é@gﬂéj ?Jc‘go S S0grgoToore



The contents of the subject to be taught to students

2gHeotd) Didirodsmedn Doy Sh80He
2. v 82 e [~}

A means for student’s mtellectual development
S]m‘}é-ti}éﬁ g &6 Zﬁ@ﬁnm@“ﬁ&’m&éﬁyé&nﬂ
3. s @ ™ = e/ e

As a means helpful for the all-round development of the students
4 % S]mgd@w éé}{pﬂ&@@% &S S Swgyg seBEore
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In order to help an educationally backward child. it 1s necessary for a teacher
Sjcﬁééﬁ IEha &)médjmméj by Talotn ALY ﬁéﬁﬁ)ﬂéﬁﬁniﬁj smggore O IASAVA

Options:

To skip such students
1 % ©or08 DO S lalebisctvgalete

To refer him to other competent teachers

5 % e8] HYeDH [HBgrTd ond &argcind SFH IFhDLo

To find out the cause of his backwardness

v Dergtiien Durg DNHSSrS InsaticeDd 5°0PER)) aIEE0
3. i



To punish the staadents for his backwardness
a0 JinBarén S8 B BfosSto
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Gandhiji’s philosophy of education gives stress on
mobd Dumgsss Tgo T°8) E&'ﬁ};,&

Options :

Social aims of education
o (v P
. miﬁéﬁﬁéﬁ yaTees 55D

Education for intellectual advancement
L oo | oy o '
. @w&:ﬁa’a @%g’ Dergai g ES

Education for cultural advancement
c‘i’}oﬁg@r‘é}é @&5’@%% Nl it

Education for moral and character development
388 HHddso '@@@E’}J@% DeregEdHsEes
4.
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Which one of the following conditions stimulate the teachers to teach?
BobardE® D dmods saruricingd éBzorr S°GodEN8 $38805K?

Options :

New and challenging topic

- .8 8% shBcin gr8odrr &S00 %“@50'5&’)1]

Old and non-challenging topic

2.8 ord B0 8@ Goid arwgodsin
2. ®

When the Head master roams around the classes?
3 % g}mﬁﬁﬁﬁcﬁné} SBNE Kehed étﬁéﬁé@fﬂé‘@tﬁj

When the parents are coming to the school

4w Dorge EPolthen FrETretd BNBD.
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The best evidence of the professional competency of a teacher 1s seen in his
ability for:
a8 aaromsaindE® 8 e Srv HEE oo

Options :

1.



Maintaining strict discipline in the class
Ctetat Wetator PNBEDS (B8Eei SrBoHIHH

Providing leadership of a professional nature
S 6D TrahBeEd)) ©ohHDRIE

Organizing co-curricular activities
Sirardy seEgEsrod) Dd5erotda)i
3. %

Maintaining high standards of instruction
5 & a)S (HEreren arBodD
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The author of the book ‘Deschooling Society’ is
‘Deschooling Society e (o SSons

Options :

Joseph J.Schwab
. 29 Lhard

Ivan Illich

Bare 80
2.



David Cayley
eE =8

Ralph W. Tyler
4 % o) W. 8eb
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Students who ask questions in the class should be
SBKBE® (HHen ©&N Durghed ser TATD:

Options :

Advised to meet the teacher after the class
S518 Ssarodto SarErsdsnd Sesiad

1. %

Encouraged to participate in the discussion in the class
5 % rTelgte] 5&5;,65 Sﬂvﬁjﬂ Dejore Hamirowrd

Encouraged to continue asking questions

_— AosBo [HHelnceR) [Bfaeromd

Encouraged to search answers independently

4 % s8rdore esaranen 3SR e iromrd
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Who developed the Interaction Analysis Category System in education for
increasing the teacher effectiveness?

BB é’)éﬁmﬁﬂm a’iige? t%o?mmﬂéﬁjms'} s [gPard) Doy IS a‘@g
etn?

Options :

Flander

| grotib

Rayon

Anmudon and Simon
@iro H8dn D

Richard Over.

8365536
4, % "
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Who 1s the father of Educational Psychology?
Doeg 533558}%1?6 PO N8 EesDTLD HB?



Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

J.H. Pestallozzi

1 2. 0. Daped

Jean Piaget
5 &8 HokrE

Sigmund Freud
ol (gronk

J. S. Bruner

4 2. 00 .([2end
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“Man 1s born free but every- where he is in chains™ who said this ?
AN 'foéajjﬁn m&@@&mtﬂj 50 8% @88 2olved o Bandadnt?

Options :

1. %



Abraham Maslow
o@FED Srdsd

Jean Jacques Rousseau

, o 8516530

John Dewey
- &P BIgoNe

W_.H. Kilpatrick
W.H. 8arg @36
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Which of the following psychologist is associated with Trait theory of
Personality?
o @553}3;5 T8 ofErod Srbid eposrls Homotio Suth?

Options :

Allport

ChTve)
1.9 =

Sheldon

) % WO



Jung

2
o
B

Kretschmer
4 BB
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Observational method 1s suitable for
HB8eme HYB HAB ©HJKO

Options :

Cognitive abilities
TS 1 Dot
ﬂoh&aﬂééé NN, TE5ED

Child's personality traits
v Sgos® rdibds ofroeen

Changing environment of the child
% 20 IrHi) HOKHTEeD

Changing attitude of the child
% BN agen Spthen
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Who 1s the father of Psychoanalysis?
08¢ DFHEE DHErsdnurh JS55?

Options :

Erik H. Erikson
JBE 5. ABKS

Jean Piaget
25 hodrz

Jerome S. Bruner
255 S. (256

Sigmund Freud
Dol (gronk
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According to John Locke. a child’s mind does not contain any
‘eHerE $0H80D Db DBHE® HB GoKD.



Imagination
_ &Raroutio
2. %

Observation

5848003%0
3. ®

Innate 1deas

4V &t-oe‘_ir:gré‘i ARV
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Exclusive educational channel of IGNOU is known as: (IGNOU)
aft) E%0 FH8Eorr aovyin 30D Doy IS

Options :

Gvan Darshan

epn S0
1. ¢ BT

Gvan Vam

5 % a'é?() ST°ED



SWAYAM
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Prasar Bharati
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Extension education 1s understood as
DE)EBHS DS 2 DFore @go 3"'@%551533?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

Extending new knowledge to the door steps of those who need education

1 3]655 oPabolie b8 &Eﬁ]ﬂé& ea;avc‘fjcl a8 éﬁgé 5&5&&&3

Extending educational opportunities to the deprived communities in a village
5 (rios? $drar8 el BT 588 768 woddchiio

A programme for educating the farmers through farm lesson

BeheH rerd8 Haododd arore aroe HEGiobod seEEo
3.



Education meant for the spread of knowledge among villagers

(e’ eReR) ghie) 3073 Alaly
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Which of the following statements is correct?
Bob® aQ® & HHS50 HBFEDSG ?

Options :

Education 1s an art
Alny o020 o8 ¥

Education i1s a science
~on L
5 % DG a8 FJo

It 15 neither an art nor a science

3 % DG a8 B¥F soth FPH0 5°8.

To some extent 1t 1s an art and to some extent it 1s a science

Fol H5% DO 2558 ©f HBM FosHBL THHY BB
4.
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A scoring guide used to evaluate the quality of students
Smgﬁjgm@ﬁ roerd)Es Drergoss Sainerd a8 Heeosee RE

Options :

Rubrics
v B8

Cumulative records
é@&b@&ﬁ Ezscfﬁa:je_n
2. =

Anecdotal record

3 % wdE8%0S Bsethen
. [
Check list
26 Oen
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Contlict Theory 1s also known as
Hondee vrrosed)) S ore Kt Senart

Options :



Theory of capitalist
EBlvkvalags ?;}m;oé‘éa‘m

Behavioristic theory
[satar forodsin
2. % A @

Theory of economic determinism

esHE Dortes MTPOS&D
3. wf-"" [ [A] [

Functionalist
4 % S05ESERTE
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Assertion (A): Continuous and Comprehensive Evaluation (CCE) 1s a modern
trend in the assessment of students learning outcomes.

@@&}ECSE\‘J(A]: oS8 [ Srergosnsn Dogdie eide H0ed) Hbo)
T af e 2858

Reason (R): Knowing the learner thoroughly 1s the basic principle behind CCE
sebeasm(R): egpgdsd ?’{gyﬂgégméﬁ ST Bwda Sredrgo CCES
asn&anB

Options :

Both A and R are true and R 1s the correct explanation of A.
1 v 0o A Bas» Radp HBaim R ‘A’ 8 585 D586



Both A and R are true but R 1s not the correct explanation of A.
, % 00tH A HBain R ey Bain R ‘A’ 8 585 D8e soth

15 true but R 1s false.

A
_ A a3y =0 R S5y

A 1s false but R 1s true.

4% A &5p =20 R a3y

Question Number : 148 Question Id : 51714413542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about deemed universities?

{%Eé] DEDosadired Honofod Bob BdsTres® 08 HBEE?

1. The Governor of the State is the Chancellor of the deemed universities
UD@ ﬁéiﬁ&ﬁ éSﬂg DR Dosodired Hed

11. They can design their own syllabus and course work
8 a0 @ng) Ao (D@8 (syllabus)D SHdasn 56y 565 0

Soirth SR ot

111. They can frame their own guidelines regarding admission and fee
Paaved Hbch Hered Honododd é}niécﬁrzﬂésvméa 90 208080

Eothtn

iv. They can award degree on their own.
) &(hen 70 =6 T oH®

Select the correct answer from the code given below
Options:

1, 11, and 111
1, 11, 3oBcin i

1. %



11. 111. and 1v
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1. 111, and 1v
1. 111 208cw 1v
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1. 11. 111 and 1v
i, 11, 111 HBd%H 1v
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Purpose of evaluation 1s to make
BT ersoBR S0 éaé%%o

Options :

Decision
g]q';dfﬂ“@ H50%Toths
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Prediction
23RS ah Q0 &3lroSto

Judgement
3 v @63;1 Ao



Opinion
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Education comes under which list of Indian constitution?
orergolian (@Heedo D 3 @0d0 [Bod 708 & erdard 3068567

Options :

Union list
1. % Solf erder

State list
- Uﬂé‘{ 2708 Jawo

Concurrent list

ﬁé}@& esed)e
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Consonance list
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